0,& %LTIRVEITVL SINXVT - W

+ %XGDSHVI %XGDIRNL ~li
ZHIHVEIPpO\HIV] i PRIV
ZHIHVEIPPO\
*D]6D OilIRQ
*D]JGD OilIRQ pV 7iWVD - NI +yQDS 6Dl &VRSRUI SW]IHVHQ
BBBBBB BBBBBBBBBBE BBBBBBBBBBE BBBBBBBBBBBB
ZiQFVIFV O ~i 5
+8 .$3266=(.866 oC
BBBBBB BBBBBBBBBBE BBBBBBBBBBE BBBBBBBBBBBB
18(
dplpY 1$( €éW]IHVHQ
RV JiU DNI pUt
—XIDIpNHV] § PRIV
6101
+v0ODS
+8) (85
I
GIHPPNHV pUpNHIpY 15 6Dl IXIDIpN
s 6Dl 7§ PRIDIVL IXIDIpN
)  [YHIIXIDpN
C 6DIil (WD ~XIDIpN
% &VRSRU BBEBBBBBRBRBERB BBBBBBBBBE BEBBBBEBEBR
_ULJHIpV
BIiIXV]
+DYLIHIHVIIP PO\
YRIJDRP , +8)
$IiQIV] .[IG|S  6]HIJEGE (J\VpJ  7ISXV  7DWD  7DUDP TV NiV —XIDIpN
3l -yJVHIH Y 3 5%z % *5%: (
3L -y JVHI H Y 3 5%z % *5% = (
YRIJDRP ,, +8)
$IHQIV]  .[IGIS  6]HIEGE (I\VpJ  7ISXV  7DWID  7DUDP  %AJU WV —XIDIpN
$SSHIQp 5yQD 7
6=81<2*+ (5=6e%(7 3 *$: )* *5% = (
yly 7 QGH
%5$",86 =2/7E1 $C  *$: > *5% = (
%5$",861e +$7, 7Th1" ( $(  *$: * *55 = (
9DWQp IpV %HilD $C  *$:z > *5% = (
WpV ZiVv]ly $C  *$:- * *5%: (
pvQp 3DIyV eYD $C  *$:z > *5% = (
ZHEHUQp 6RPID
6=$%T =2/7E1 3 xT: o *5% = (
7(%(571e 620/3, (5,.$ 3 *$: % *5% = (

gVWIHVEIHI pUipN

%66 %URNHU 6HUYLFH 6\VIHP

THIHVHIP pQ\HIV] i PRO1V

*D]GD OilIRQ



O,& %LTIRVEITVL SINXVT - W
+ %XGDSHVII %XGDIRNL ~i

JRIDRP, (85

$iQVv] - JIG]S 6]HU]EGE (3\VpJ  7ISXV  7DUWID  7DUDP %]V IiuV -XNDOpN
DRUIDIRP ,, (85
STToIRY) I [Te] 6]HU]EGE (J\VpJ  7ISXV  7DWID  7DUIDP  %l]WViuw -XHD0pN

gVVIHVEIHI pUipN

$] HIV] i PRIi VWD) NDSFVRIDIRV UHNIDP i FLyNDIl NpUi N t1iVEDQ D] HIV] i PRIV Np KH]YpIHIpi]0 Vi PtRI KpiHQ EH) ( D] O,& WRGEEDQ IHDGQL

%66 %URNHU 6HUYLFH 6\VIHP

THIHVHIP pQ\HIV] i PRO1V

*D]GD OilIRQ



